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CHEMISTRY
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Full Marks : 40 Time : 21 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
\ OWn Words as far as practicable,

1. Answer any five from the following questions:
2x5=10

a)  Bromination of acetophenone in presence of

(1) AICL, (catalytic) and (i) AICI, (excess) gives
different product—Explain.

b) Hydrogenatidr_l of alkene is an exothernjc

process, still it requires a catalyst— explain.

¢)  One of the products of Reimer-Tieman reaction

of p-Cresoi is 'A" but not 'B'—explain.

B¢ e et
CH, CHCl,  CH, CHO |

(A) Sed’ L Hm)
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d) Dimedone in acid medium can be used for the
separation of acetaldehyde and formaldehyde

from their mixture. Explain the fact.

e) Compare the stabilities of the following
molecules with proper reason.

I-Butene, Cis-2-Butene and trans-2-Butene
_\,?f Explain 'umpolung' with suitable example.

g) Washing of crude m-dinitrobenzene with

aciueous Na, SO, removes the contaminated

ortho-. and para- isomers. Give reason.

Ah) How will you convert benzil to

diphenylacetylene via hydrazone formation?

2. Anéwer any two from the following: 5%x2=10

~a) I) Predict the produ‘ct(s) with propef

stereochemistry.
Cl
i) mCPBA . o
Et i of
2
Pd/BaSO, . o
e A PRURT, 7 !
11) H\\\\"\ ; ‘ QUL?{(Z]me
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II) Indicate the structure of A, B and C in

the following reaction sequences:

NMe,

~ OH .
Br Br @L _
CF,

Br,
AcOH,NaOAC * > A > B+C

Br

(13+13)+2=5

b) i) Give one evidence for the formation of
o-complex and gm-complex in

eleétrophilic substitution reaction. -

ii) Write down the mechanism of the

following conversions:

l\/CI _eom COOEt
D —EoH

HO

, O] ‘ .
I Xoﬁgﬂ A‘Séfff? » X I>

2+(1 +1 )—“5
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¢) i) Compare the reactivity of the following
pair towards HCN. S SR

gk /O
=0 &

\y)/ What happens when Iso-propyl
magnesium bromide is added to Di-
isopropyl ketone? Explain your answer
with mechanism. 3

d) i) Identify [A] and [B]
Sldisr L
S Al
H,/Ni_

LI LEN [B]

o ——]

ii) How Catechol can be synfhesized from

phenol? Give equations. 2+3=5
3. Answer any two from the following:  10x2=20
s a) i) Whaf is benzyne? Why it is so reactive?
i) Predict the structure of 'A', 'B' and 'C’

in the following reaction sequencesf _

Explain their formation with mechanism.
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>= 0+ CH, - COOCMe, —0l ) A Sy 13
!_

Cl

i) DBU/Mel can be used for methylation

of RCOOH in stead of CHLN,. Justify.

V) What is Girard rey gent=17 Give its one

use. Ie+J-242
b)  Give the products with pl‘:msihlc mechanism:
2%x5=10
i)
HO HO
CH,CN — 22
+ —>
L ’ HCI -
2
HO

iv) PhCOCOPh—3%_,
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/ N H,), NH—
A E::I::} +CH,0+ (CH,),

I

¢) i)  Sulphonation of benzene shows primary
kinetic isotope effect —explain.

1)  How will you convert erytho-1, 2-
\ diphenyl-1,2-ethenediol to z—stilbene? .

iii) Predict the product with mechamsm

DEAD
THF

iv)  Write down the structure of B with

proper stereochemistry:

COOH |
L/KL (i)DBU
O/ NaZHCO, > A (ii) mCPBA >B

V)  Give the streostructure of the product

with proper reason:

(1)Me,Culi/ THF-78° C
o (i)H,0°
gF ~=""

AN
4

2+2+2+2+2=10
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d) 1) Indicate the major product of the

following reaction:

HO CO,Me
\/Y A g

\ji)/ Convert:

OH OH  ,OH

ogieodM e
' _’I-/I/IOH | : v OH

iii) Give explanation of the following

_ obSefvation: _
ﬁ : ‘ ﬁ 0y - HO E Me -
e e
R R
| '(major).

iv) "Suggost two sets of reactants to prepare
' the following alkane using Corey-House
strategy and choose the better set with
proper reason.
CH,-CH-CH, —CH,

|
CH,

| 2434243=10
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